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i s S smap Sl

1% Y, —-x2 - 2X - 3
ut \..;.xu.“ Oxntb, dy/ = 0 f
v R =30 & '
W-x+3x-3=0 X |
~
xx-1)+3x-1)=0 «;{
(x=1)(x+3)=0 &
x=1or-3 ‘ e
Substy ="/, or 11 ‘ A
The turning points are (1,'/,) and g &
(3, 11) sliiplabll TR
-J, ! 2 3
AR 4 d
18.| a bj 2 2 4 " 2a 2a+4b 4z +4d Bl
c. dllo 4 4 Je¢  2c+4d dc+4d
ol L J
0 -ﬂ 2a 2a+4b 4a+4d D¢ 2c—4d-4c-4d M1
-1 0 2¢ 2c+4d 4c+4d L—Za -2a-4b 4a-4d | |
0o -4 -4 | _ 2¢ -2c—4d -4¢c —4d Mi
-2 -10 -12 -2a -2a—4d -4a—4d
2c=0=>c=0 -4d=-4 2a-4b=-10
2a=2 =>a=1 d=1 -2-4b=10
b=2 Ml
HenceR= | a b = 1 2
C d 0 1
Al Bl Cl
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Q19 a)  c.d= 64800 — 60000 = 69601 — 64800 = 4800 Mi
a = 60000
n*term=a+ (- 1)d Bl
. = 60000 + (n — 1) 4100 _
b))  Commonratio= 64800 = 69984 =1.08 M1
S R 60000 64800
i nth tern = g ™! where a = 60000 Al
=108
= 60)00(1.08)™
7™ term:
Abdi = 60000+ (7 — 1) 4800 Ml
= 88800 .
Amoit = ar™! 9 e i i
= - 6000 (1.08) Ml
= 6213 B1
Difference = 95213- 88800
= sh 641 |
20. | X
< \
' lies on any point
long cp Rect
' 3 mks
QB <60°<90° Al
A P
Ty ) = b Q lies on theinshaded {drawing
. , ;5 : region M2
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21. e 0 30 |60 |90 | 120 [ 150 ‘| 180- =7 !
' 2sinx | o0 | 1 fi72f2 | 17321 foo i
l-cosx®* | 0 | 0134f05 [1 | 15 | 1.866[2 %'
LV
é“ 7
2 Banees
‘ y. : ¢
9 2o [ q0 130 tso R0 aw
ci) 129
i) 0g<xg129°
23
)] x?=y?+ 27> —2Xy cos X N
= 40000 + 40000 — 2 x 40000 cos 50 Y

= 80000 — 51424
x2=28576
x = 169.04
zy =x=169.04
sinrule 'y = x
Siny sinx
200 = 169
siny . sin50
sin y = 200 sin 50

169

Ml

siny = 0.90656

y = 65°

bearing z from y = (180 + 65)°
= 245°
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b) T Wy © = 200 " M1
sns0 sin90 o
wy=sin50x200 |
sin90 - ;
= 0.90¢56 x 200
 wy=181/m Al
b : Top
by TYX=h_ (right angled triangle) 5
-~ 'XTY=6°(given) 6° Ml
* therefore XYT = (90 - 6)
=i — Al
Angle of elevation of the top = 84° Ay
4 A x 200 T -
2. P =_[45+8
- |2025+ 64 Al
=92
f££° '= lFI—12+hc2
= ! 9.22 + 62 R tuR 0500
C i
= 10.97cm Al
h) Al
i ) tan &= 6/9.2 0(5\Q&
tan &= 0.6522 N 6
#=33° f i
F 92ecm H
H -
i) B
tan & = %, |
Al 8cm
tan & 1.775% ‘
& = 60.65° e Al
Q 45cm . B
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0x2.3- 50 x2.4"'j1“'7‘- | S

DN Ml —
E 0 e
Cosine rule . ' T,
6°=10°+82-2x8x 10 cos & Al . g
é =6}
36 =100 + 64 — 160:cos & : tané T }
36 = 164 — 160 cos & =075
cos & =A128/-16 - 360191
o 0= 0.8 Taxgan
=3609" ‘
4
; -
24 a) i) =75x+75y 26 Mi :
=25x +25y>2 F
i) 75x<175 ). y>o | Ml
3xg7 -
. # > : -
i) 75y<180 RS IV
Sy 12 3 ’
.b) See diagram next page 4 mks
} <) 1) _lowestcost=20x+50};‘. T
at(0.1,00 ¢=20x0.1+50x0 -
c=2/= ‘ Al '\_
_ ;

. I,_i_ﬂé [5 Ml‘_ -
Line 1=M1

ii) Max cost =2
| T =46+ 120
c = 166/=
/
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